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- Taxonomy of the fungi

- Which of the following is not an example of
highly unsaturated fatty acid?

(1) Elaidic acid

(2) Arachidonic acid

(3) Palmitic acid

(4) Linoleic acid

(5) Question not attempted

- Which of the following is Central Depository for

protein sequence?

(1) CRC

(2) UniProt _
(3) IUPAC Eﬁ%}
(4) EMBL =

(5) Question not attempted

follows the
recommendations of the Committee on
International Rules of Botanical Nomenclature.
Match the following accordingly and choose the
correct option using the code given below.

(A) Division (i) Mycetidae

(B) Subdivision (i1) Mycotina

(C) Classes (iii) Mycota
(D) Subclasses (iv) Mycetes
Code -

(1) (A)-Gii), (B)-(iii), (C)-(iv), (D)-(1)
(2 (A)-(iD), (B)-(iv), (CO)-(1), (D)-(iii)
() (A)-(iii), (B)-(ii), (C)-(), (D)-(iv)
(@ (A)-(iii), (B)-(i1), (C)-(iv), (D)-(1)
(5) Question not attempted

- When polyploidy results from doubling of

chromosome number in an F; hybrid, which is
derived from two distinctly different species, it
is known as -

(1) Autohexoploidy

(2) Allopolyploidy

(3) Autotetraploidy

(4) Induced autopolyploidy

(3) Question not attempted

- What does the E-value represent in BLAST
search results?

(1) Maximum scoring points

(2) Percentage identity score

(3) Expectation value

(4) Length of the query sequence

(5) Question not attempted

- H QT e s 9 e @l

SR T
(1) Tasfes® e
(2) wifdssi=a 3t
(3) ufafew ara
(4) fomells® e
(8) IrgaiiRa weA

I s B s 1 6 1 o 5 =2 -1~ O -

fgarR 87
(1) CRC
(2) UniProt
(3) TUPAC
(4) EMBL

(5) srgaRa uwA

ol o 9fafay & R &1 STgERoT oxal
2| der R fAam SIfY gd e &y 1Y &
# 9 el fAdey &1 T BT |

(A) Division (i) Mycetidae

(B) Subdivision (i) Mycotina

(C) Classes (iii) Mycota

(D) Subclasses (iv) Mycetes

az\?' =

(1) (A)-(iD), (B)-(iii), (C)-(iv), (D)-(1)

(2) (A)-(i1), (B)-(iv), (C)-(1), (D)-(ii1)

(3) (A)-(iii), (B)-(ii), (C)-(i), (D)-(iv)

(4) (A)-(iii), (B)-(i1), (C)-(iv), (D)-(1)

(5) Sr<IRa vz

- QT yUigaT ST gl W Ut IOREE Bl

@ & F ga) | B 89 @ sawsy
TS gHBROT HaaAld & —

(1) e

(2) aruvagfoET

(3) =g

(@) URT wagIforT

(5) srgaIRa ueA

- BLAST w@rs gRomdi & E-A19 &7 <9l &8¢

(1) frHaq FHEA 3D
(2) uforera gga™ R
(3) smfera A
(4) g Ry &) ddrs
(5) srgaRd ueA
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6. The type of phylogenetic analysis using

nucleotide sequence is also known as molecular
taxonomy, the most popular bioinformatics tool
used in this is -

(1) PHYBIB

(2) PHYLIP

(3) PHYPIP

(4) PHYLIB

(3) Question not attempted

- Organisms that use inorganic compounds as
energy source and CO: as carbon source are
called as -

(1) Chemoheterotrophs

(2) Chemolithotrophs

(3) Photoheterotrophs

(4) Photoautotrophs

(5) Question not attempted

- Median Lethal Dose of X—Rays for various

species of organism are given below. Match the
pair and choose the correct option using the code
given below.

Organism
(A) Virus — Tobacco mosaic
(B) Bacteria — Bacillus mesentericus
(C) Protozoa — Paramecium
(D) Vertebrate — Mouse

Median Lethal Dose, rd
(i) 1,30,000
(ii)  3,00,000
(iii) 450
(iv) 2,00,000
Code -
(1) (A)-@{v), (B)-(1), (O)-(ii), (D)-(iii)
(2 (A)-(iv), (B)-(iD), (O)-(iii), (D)-(i)
() (A)-(1), (B)-(iii), (C)-(iv), (D)-(ii)
(4) (A)-(iii), (B)-(iv), (C)-(1), (D)-~(ii)
(5) Question not attempted

- Which of the following disaccharide has no free

anomeric carbon atom?

(1) Sucrose

(2) Lactose

(3) Fructose

(4) Maltose

(3) Question not attempted

6. fFerAICIgs AIHH B IUART BRSD AT

faeeiyor & USR B vifds Fffeor & wg F
AT ST ST €, 39 8q 9T A Abiug oig
AT A (tool) & —

(1) PHYBIB

(2) PHYLIP

(3) PHYPIP

(4) PHYLIB

(5) arg<Rda U

- g Si1g ST 3rprdf~e AIfTal 7 Sl Wi & w4

H Ug CO; Bl HIE9 GId & w9 § SUINT B
8, e & —

g feg Mg & fawey &1 ==
PITY |

Siig
(A) IR — dd1e, HISD

i) 1,30,000

(i) 3,00,000

(iii) 450

(iv) 2.,00,000

a:d et

(1) (A)-Gv), (B)-(1), (C)-(i1), (D)-(iii)
(2) (A)-(iv), (B)-(ii), (O)-(iii), (D)-(i)
(3) (A)-(1), (B)-(iii), (C)-(iv), (D)-(ii)
(@) (A)-(iii), (B)-(iv), (C)-(1), (D)-(ii)
(5) SrRT T

- F=feaRaa 4 9 fod ssdavss § 18+ gaa

UARRE HET URATY F8] 8T 87
(1) g
(2) dger
(3) waert
(4) HTeeT

(5) srgaRd weA
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10. [n which of these regions of lymph nodes, T-cells  10- =flad @ /=1 # & fbw = #§ T-SIRHY
are found? g S 87
(1) Central lumen region (1) B=IT—gA= &
(2) Lymphatic Vessels (2) o1 arfgaT
(3) Outer cortical region () I=d Fifada (@eHer) a9 4
(4) Paracortical region (4) WREacHT & d
(5) Question not attempted (5) AN Uz
11. In Infrared Spectroscopy, infrared spectra are  11. 3%‘[?3 WFE P § s3pRS WagTl DI JATHAR
usually plotted as .......ccccoineees ordinate. % ------------------ S e & ©u # wic fHar S
(1) Absorbance . !
(2) Transmittance E“% 0 :
3 : [=]: (2) wogoT
(3) Density @) T
(4) Intensity () Sraar
(5) Question not attempted (5) argaRa e
12. Genetically modified “golden rice” is created by 12 3df¥1& U | HefRa “Mesd g9 §79 A
changing the biosynthesis route to produce - fras Saare & fag Sadzewer AR @
: JEABR FATIT STAT 87
(1) Flavonoids
(1) veaHISSd
(2) B Carotene @ p e
(3) Chlorophyll-a (3) FRIfre-a
(4) Phycocyanin (4) BrghaE=T
(5) Question not attempted (5) arg<Rd us
13. Match the following and choose the correct 13- f=ferRaa &1 e @iy v <k fag 717 @
option using the code given below. T 9 9ol fAecg &1 9g9 Ity |
Name of the Restriction Endonuclease yfoEfta JsI=gfdelvsl Uwaligd &1 A9
Enzyme (A) Aatll
(A) Aatll (B) Hae III
(B) Hae Il (C) HindIII
(C) HindIIL (D) Alul
(D) Alul A
Source . :
_— SHIftherd g HeUST Rd
(i) Haemophilus influenzae Rd 23) ameitaae H}_;%?R:T
(i1) Arthrobacter luteus i) SRR NS
(ii1) Haemophilus aegyptius (fu) NIV
(iv) Acetobacter aceti (v) 3
Code - B/
(1) (A)-(iv), (B)-(0), (C)-(ii), (D)-(iii) (W (A1), (B)-A), (C)- ), (D)-00i1)
@) (A)-(ii), (B)-(iv), (C)-(ii), (D)-(i) & (A o). (B 1-0w), (O)- (i), (D))
(3) (A)-(iv), (B)-(iii), (C)-(1), (D)-(ii) (3) (A)-(iv), (B)-(iii), (C)-(), (D)-(ii)
@) (A)-(iii), (B)-(ii), (C)-(iv), (D)-(i) (@) (A)-(iii), (B)-(ii), (C)-(v), (D)-(i)
(5) Question not attempted (5) srgaRa we
62 - ® Page 4 of 32



14.

15.

16.

17.

18.

The type of hypersensitivity associated with
inappropriate T-cell activation is -

(1) Type IV hypersensitivity

(2) Type II hypersensitivity

(3) Type III hypersensitivity

(4) Type I hypersensitivity

(5) Question not attempted

Human have which of these 3 different kinds of
MHC-II genes?

(1) HLA-A, HLA-B, HLA-C
(2) CD-1, CD-2, CD-3

@) C-1,C-2,C-3

(4) DQ, DR and DP

(5) Question not attempted
Which of the following is important for the
maintenance of energy homeostasis in cells?

(1) Acyl-CoA Synthetase

(2) Nucleoside diphosphate kinase

(3) Adenylate kinase

(4) Pyrophosphatase

(3) Question not attempted

“Recombination nodules” are the characteristic
of which of the following?

(1) Cell cycle

(2) Only mitosis division

(3) Both meiosis and mitosis division

(4) Only meiosis division

(5) Question not attempted

Which of these is metabolic precursor of Valine?
(1) o-ketoglutarate

(2) 3-phosphoglycerate

(3) Oxaloacetate

(4) Pyruvate

(5) Question not attempted

EL4E

14.

15.

16.

17.

18.

frafoRea § & oFdr  foEagaeieran
T-HIRET & JIFUgad AT | T 872
(1) <1zy IV IrfaddeTeiear

(2) ergu 1 sfrdgaeTeferar

(3) er=su I faddgTeierar

(4) Ty I Afcadeeieran

(8) Ir=IRa U=

Ha # 741 § 9 A9 dF (3) Y= vor &
MHC-II 59 8 &7

(1) HLA-A, HLA-B, HLA-C

(@) CD-1,CP-2, D3

3) C-1,C-2,C-3

(4) DQ, DR 21 DP

(5) IgaRa uw

= d | P IR #§ ol AR @
WI—EG & IMaLIFH 87

(1) Acyl-CoA RHerew

(2) <fIerTss SEHITHE HIg-Tof

(3) TSHTZeiT BT

(4) gRERTBIEREST

(8) IrgaRa g

‘gt AT e | 9 feadt fashar 27
(1) ST TH BN

) 4% T faoE @

(3) ST RGN vd = e &1

(4) % ARG fqroE &

(5) IR U

= # 9T @1 SumEm s (rewiR)
DT 87

(1) o-fFereere

(2) 3-piEpIffaare

(3) fagrargiee

(4) grswde

(5) rgRd uA

62
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19.

20.

Match the following Column-A
(Transgenic Animal) with Column-B (Promoter,
Enhancer and Structural Genes involved) and
choose the correct option using the code given
below.

Column-A Column-B
(A) Mouse (I) BPV
(B) Chicken (I) mMT/rGH
(C) Cow (II) ALV
(D) Fish (IV) AFP
Code -

(1) (A)-(D, (B)-(ID), (C)-(IV), (D)-(I)

(2) (A)-(ID), (B)-(IID), (C)-(D), (D)-(IV)

() (A)-(ID), (B)-(D), (C)-(I1I), (D)-(IV)

(4) (A)-(D), (B)-(I1D), (C)-(1D), (D)-(IV)

(5) Question not attempted

Which of these statement is incorrect for
Hardy-Weinberg’s Law?

(1) Binomial expression is (p + q)* = 1.

(2) Mating is a

completely non-random

19.

20.

Hg Ry W wfaH—a (giEoifae oi|) &1
PHicH—d (U UHICY, UBFEY Ud WRIAHS
o) & fae #ifvig wd i Ry 10 &5 94 9
el fdsey &1 gaa BTy |

DITH—A DicTH—q
(37) =& () BPV
@ (I) mMT/rGH
&) ™™ (IIm) ALV
(®) #oer (IV) AFP
az\_c"' —

(1) @N—(D, @—-dID, F)—A1AV), &)—-dD

(2) @E)—1n), (@)—d1D), FE)—1), ()—1V)

(3 @D, @E@—(D), F)—d11D), ()—A1V)

@) @)D, (@-d), (&F)—1D), (&)— av)

(5) Irg<Ra e

= ¥ 9 e euF Brel aq9 A & forg
& T8l 87

(1) fgug fyafda (p+q)?=1281

(2 fHN oEEn # O WERT Ue gl IR

phenomenon in a population. grgfeed geAr =1
(3) The gene and genotype frequencies of each (3) frd ST § Ud S a1 Ueild & Siid
gene or allele in a population remain at an 3R SiHTErEy AgiiEal Oidl v 91 dge
equilibrium generations after generations. # &l B |
(4) All the genotype in a population reproduces (@) fped saE § 9 SiFleRy 99F w9 9
equally with success. FHAAYdD TSI B & |
(5) Question not attempted (5) argaRa ueA
21. The material used for electrode in 21. JgdEUEaed H Soldgie & fod uygw
electrophoresis which is the best, need not be I /uerd O Hard ®, SS9 dga B
replaced ever because it does not deteriorate, is - ATTIBAT el & Hifd I8 @RI T8 gL, 8 —
(1) Platinum (1) wifesw
(2) Stainless steel (2) LT 'l
(3) Silver chloride (=] =] (3) e TARTSS
(4) Graphite rod m ) TwTge S
(5) Question not attempted : (8) ergeIiRa 9=
22. Hemoglobin consists of four polypeptide chains. ~ 22- EHrdlfaT # IR dicdiU<ss s@ar s8xil 1
Which of the following is the correct option? =1 A & s 98 RQdew 2?2
(1) Two o-chains and two PB-chains (1) =7 a-ggen R g7 B-HEer
(2) One o-chain and three B-chains (2) s o-gEer R 9 B-sRger
(3) Four B-chains (3) IR B-g@en
(4) Three B-chains and one o-chain (@) TF B-sjEdr 3R TP o-3Eam
(5) Question not attempted (5) srgaRa ueA
62 - @ Page 6 of 32



23.

24,

25.

26.

27.

Which one of the following enzyme removes

positive supercoils during replication?

(1) Exonuclease

(2) Gyrase

(3) Endonuclease

(4) Helicase

(3) Question not attempted

Which of the following reaction of TCA cycle is

not catalysed by dehydrogenases and do not

require NAD*?

(1) Conversion of pyruvate to acetyl CoA

(2) Conversion of malate to oxaloacetate

(3) Conversion of isocitrate to o~ Ketoglutarate

(4) Conversion of a- Ketogluterate to Succinyl
CoA

(5) Question not attempted

In Adsorption Chromatography -

(1) Stationary phase is solid and mobile phase is
gas.

(2) Stationary phase is liquid and mobile phase
is solid.

(3) Stationary phase is liquid and mobile phase
is liquid.

(4) Stationary phase is solid and mobile phase is
liquid.

(5) Question not attempted

The type of signalling which involves the

secretion of molecules that bind receptors on the

same cells or cells of the same type is -

(1) Paracrine signalling

(2) Endocrine signalling

(3) Synaptic signalling

(4) Autocrine signalling

(5) Question not attempted

Which of these is related to regulation of

immune response to intracellular pathogens?

(1) Th17 cells

(2) Tth cells

(3) Thl cells

(4) Th2 cells

(5) Question not attempted

E4E

23.

24.

25.

26.

27.

frr=foRag 5 9 @991 TogH, YelleId &
SR FHRIHS JURBIS Bl BCIal 87

(1) vRA=gfars

(2) T

(3) deIgfaaavst

(4) Zeftao

(5) srgaRa usA

TCA =sh &1 A=faRad § 3 o9 sifdfsan
fEEgvmy gRT SafRa A8l 8l a1 NAD*
DI TEH AMGIAHAT T8l BldI?

(1) grswde &1 YReEd CoA H ®U=RIT

(2) Fore @1 JATaagdee § HUR

() arzEIfge &1 a- PEFeRe H HURT
(4) ITH—DICrGcRe HI AfAASAd CoA H

HYTIROT

(5) srgxRa ge

IO hHSUTH § —

(1) Rer T=or 3 IR faehsr a~or =i e
gl

(2) Rer =R ava iR Tfeiia =RoT 3 g
Zl

(3) Rer =T TR 3R TIfaeiiar =Ror aver iar
2l

(4) Rer =T 8 3R Tfeiiel xR a)at =T
2|

(5) rgafRa g

2, Ol U B UBR BT BHIERT AT HIFRGRT )

Tl & 9 8, § —

(1) RTPIZA Fhad

(2) T=SIshIsa HdhdH

(3) IS waa+

(4) siferpse Hhad

(5) argaRa e

ITHIBBIT TR & forg ufemer ufafsan

w1 foraa = ¥ feae grr foear smar 82

(1) Th17 ®if3mHT

(2) Tfh ST

(3) Thi &1f¥r@T

(4) Th2 &1

(5) srg<lRa g

62
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28.

29.

30.

The correct formula for Chi-square test is —

M =3

(0 - E])“
(2) )52 —5 {Oi;-ﬁi)

— 02
(3) 2= EO.)

@) ,2=3

(Ei— 0 )2
(5) Question not attempted

Which of the following
Double-stranded RNA?
(1) Influenza virus

animal virus has

(2) Rous virus

(3) Reovirus

(4) Poliomyelitis virus

(5) Question not attempted

Base excision repair of a T.G. mismatch starts
with which enzyme?

(1) DNA ligase

(2) DNA glycosylase

(3) Apurinic endonuclease

28.

29.

30.

=1 & BI99T B (Chi)—TAIR GRS BT Fal
= &
(1)/ 2(0 E)2

(2 (0i— E*
=k
@ oy &0y

B

@ =3

(Ei— 01)2
(8) srg=Re wed
=1 & 9 s o= aRd iﬁ‘w—\{; JMR.YAT.
ga< BIAT o7
(1) SAFGUST AR
(2) I\ IrERE
(3) Rafrar=y
(4) giferamrsfafes aRa
(8) srgaRa ue
fra Trsd @ S 0 B AR IwWaeA
IR UR™ By 87
(1) SrgAT. o
(2) YA, TARH RS
@) e deSgfaaes

(4) Apurinic lyase (@) TgRFF ST
(5) Question not attempted (8) srgxiRa gw
31. Below are given some optical systems. Select 31 19 ¢w UsIf¥e 9 Ry T 2| 399 F S
which of these are available in analytical faeayoeTs =01 § Suae €, 3= A fau
centrifugation by using the options given below. Y et T |
(A) Light absorption system (A) UHTI JAGYNYOT
(B) Schlieren system (B) f¥om= a3
(C) Rayleigh interferometric system (C) ¥l SeXoRHfed aF
(1) Both (B) and (C) E2E () B)3dR (€)=
(2) (A), (B) and (C) o (2) (A), (B) 3R (C)
(3) Only (C) : () wad (C)
(4) Both (A) and (C) (@) (A) 3R (C) g=l
(5) Question not attempted (5) ﬂﬂﬁﬁﬁ uee
32 In t-distribution = % formula, what does 2 t-RdRoT = - / v’_ LA H, “s” H1 o aad 87
“s” represent? (1) "¢ 9E faavor
(1) Standard normal dis-tribution (2) =RY &Y Gt weE=T
(2) Total number of vangbl.es (3) =TT W e
(3) Sample standard deviations @) = 3R
(4) Standard error
(5) Question not attempted (8) SrgTIRT u=d
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33. Nucleotide excision repair is also described as 33 TRIoH RIER &) 3989 9 g
which of these? 9 | W aftta fear s 87
(1) Mismatch repair (1) 95
(2) Base excision repair (2) 99 WL ARgIR
(3) Endonuclease-exonuclease repair (3) TeIgfaaya—Uasi eyt effoRge
(4) DNA repair (4) SrrAT gfogur
(5) Question not attempted (5) orgaRa A
34. Following are various steps for cloning of a large ~ 34. ol daex (A) H Uh 99 SLUAU Es &I Falf=T
DNA fragment in a phase vector (A). % fafte =xor fafeRea €1 i Ry w10 e
Select correct sequence using the code given 998 STIHH BT FIT BT |
below. \ @) wur<iRd g. Pieas BIRGRIT BT o
(A) Multiplication of transformed E. Coli cells @ W () BT U
(B) Digestion of phase ) @) . PIoE BIRGRT BT AvHE
Eg)) i.yms- of E.fC}c])h ce(l}lL) @) oo ) ﬁtﬂaﬁ &7 e
1gation of phase arm o ; Speate
(E) Packaging of recombinant phase (A) gZT _9’? T ) B
Code - &
(1) (D), (A), (B), (C), (E) (;) @). @). @. @. @
(2) (D). (B), (E), (A), (C) @ @®). @. (@ @) @
@) (B), D), (E), (A), (C) @ @). @. @. &) @
4) (B), (D), (A), (C), (E) @ (). (). @). @), @
(5) Question not attempted (5) srgaRa v
35. Full form of Bioinformatics tool CORBA is - 35. 19 @1 BT WEA (tool) CORBA &T gui A7H
(1) Consolidated Objected Require Based g —
Architecture (1) siforses qifcides Rearr ax=
(2) Consolidated Organism Related Biological aTfE Ty
Archive SR RIS Rrare R
(3) Common Organism Requisite Band = : G
Architecture < ) .
(4) Common  Object  Request Broker (@) i Sifffren Ridafie e anfdear
Architecture () oiHe sifeside RaRT FH bR
(5) Question not attempted (5) Gﬂ?lﬁﬁ LS I
36. Donnall Thomas and Joseph Murray were 36. SIFlal of99 U9 SIRI%G TX &I 1990 BT Hrael
awarded Nobel Prize of 1990 for their work in - IRBR 39 [Bd BRI & fordy fRar ar o
(1) Humoral Immunity (1) o=a1 yfoRer
(2) Transplantation Immunology (2) yfoRoer uftRenfasm=
(3) Tumor Immunology (3) R uftrenfasm=
(4) Cell-mediated Immunity (4) HIferPT FegweT ufa=em
(5) Question not attempted (5) :gaﬁﬁa o
37. Star shaped cells present in antigen presenting  37- @aT 3R Hdd! & URIGH URgd HIA dTell
cells of skin and tissues involving innate and Eﬁﬁlﬁaﬁ H SURYT AR AR B BB,
humoral immunity are - ?ﬂﬁ HEST e qr avel afower ferh €, 9
(1) Myeloid stem cells ;
(2) M()::nocyte cells E=E (1) i Sal L
i ¥ (2) HHAIEE PIRBN
(3) Dendritic cells O @) T PR
(4) Neutrophil cells : @) REfFer BB
(5) Question not attempted (5) I <IRd e
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38. For export and import of genetically altered
organisms, approval from which committee is
mandatory in India?

(1) Genetic Engineering Approval Committee
(GEAC)

(2) Review Committee of Genetic Manipulation
(RCGM)

(3) Recombinant DNA Advisory Committee
(RDAC)

(4) Institutional Biosafety Committee (IBSC)

(5) Question not attempted

39. M13mp2 vector has no foreign gene at the
LacZ gene, it can produce B-galactosidase. The
plaque formed is -

(1) Black plaque

(2) White plaque

(3) Blue plaque

(4) Yellow plaque

(5) Question not attempted

40. Which of the following is not a component of
humoral immune response?
(1) Th cell
(2) B-cell
(3) Antibodies
(4) Plasma cell
(5) Question not attempted

41. What causes immunological memory?
(1) Both memory B-cells and memory T-cells
(2) Only memory B-cells
(3) Only memory T-cells
(4) Neither memory T-cells nor memory B-cells
(5) Question not attempted

42. The number of amino acids found in bound

peptides of Class II MHC molecules ranges
between -

(1) 25-31

(2) 40-47

(3) 13-18

4) 8-10

(5) Question not attempted
43. Incineration is based on the following principle -

(1) Tyndallisation

(2) Moist heat sterilization

(3) Filter sterilization

(4) Dry heat sterilization

(5) Question not attempted

0]
L
[=

[E]F L=
i

=

38. ol w9 ¥ uRafda shal & fafa wd
g & fo wRa # o wfafa 9 srgEe
e €, a8 © —

(1) Sfew SHIFART 3gad AT (GEAC)

2 sHfes FNgowa & o Ry @0d
(RCGM)

() Reifieric .gA.Q. Tsasadt Ha<l (RDAC)

@) Recgz=a TG HHET (IBSC)

(5) SrgaRa gz
39. M13mp2 FaTed H LacZ SfF TR &g AT
S 21 Bl 8, 98 B Aciacarssy g1 dahdl
2| S ddie §9dT1 &, 98 § —
(1) ST Tdih
(2) ¥ <did
(3) frerm wraid
(4) drar @i
(5) arglRa uw
40. fforRag o & wi9aT gFRa ufdRer gfdfean
®T UcH A8l 87
(1) Th IR
(2) fr—a1f3ramT
(3) vdiErer
(@) =TT BIfHT
(8) srgaRa wed
4. gfitrerores W fFad gl 87
(1) Hft B-3I¥®Y Ton |fa T-HIReg a1
(2 e Ffa B-sIRie
() e Hfa T-H1Re|
(4) 51 a1 Y T-PR@HE =1 & [ B-BIRBY
(5) srgaRa ge
42. gaf I MHC Uil & dffa Terssd d 9’ o
qrel T TRTS Y = fhas 7er gy 87
(1) 25-31
(2) 40-47
(3) 13-18
(4) 8-10
(5) rg<IRa ue
43. swefiesver forer Ragia o= emenfRa g 8 —
(1) fCsagse™
(2) =1 am fagsHa0T
(3) fheex AT
(4) g amu fadpAr
(5) 3g<Ra geA
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44. Match the following — 44. fforRad &1 gafad S —
Serum Enzvme ARA TS
(A) Amylase (A) THATgES
(B) Lactate dehydrogenase isoenzyme 5 (B) <iacc fSEssId g~y 5
(C) Alanine aminotransferase (ALT) (C) TAIH HHIZIRYST (ALT)
(D) Ceruloplasmin (D) TSATATRHT
Major Diagnostic Use T A SYAnT
(1) Liver disease (i) THd AT
(i1) Viral hepatitis (i) 9IRS suersfewd
(iii) Wilson’s disease (iii) faea= <mT
(iv) Acute pancreatitis (iv) g IFATIIEINT
(1) (A)-({v), (B)-(1), (C)-(ii), (D)-(iii) (1) (A)-(iv), (B)-(1), (C)-(ii), (D)-(iii)
(2) (A)-(1), (B)-(ii), (C)-(iv), (D)-(iii) (2) (A)-(1), (B)-(ii), (C)-(iv), (D)-(iii)
(3) (A)-(ii) (B)-(1), (O)-(iii), (D)-(iv) @) (A)-(ii) (B)-(i), (C)-(iii), (D)-(iv)
(@) (A)-(iiD) (B)- (iv), (O)-(1), (D)-(ii) (4) (A)-(iii) (B)- (iv), (C)-(i), (D)-(ii)
(5) Question not attempted (5) <R e
45. Who gave the first proof of the Germ Theory of ~ 45- 177 & W] Rigid &1 Ygel wEwT fhea faar?
disease? 1) »sRe &=
Sl Sl
(3) Robert Koch @ a2 B
(4) Ignaz Semmelweis @) g few
(3) Question not attempted (5) FgaRad we
46. Fatty acid synthesis and breakdown occurs in  46. §& ufire Gzoyur iR faues mae ST &
which part of the cell respectively? f| 9T # g 87
(1) Endoplasmic reticulum and cytosol (1) Jereai@e feaad iR Arges
(2) Mitochondria and cytosol (2) Arze@if~gar R ARSI
(3) Cytosol and Mitochondria (3) wrECHId R HASCIdi~gal
(4) Cytosol and Endoplasmic reticulum (4) | IR gerarsI s feqan
(5) Question not attempted (5) SrgeTRe we
47. Which of the following physical condition is not  47- Jgewsiial @1 gfg & oy Fr=falea # ¥ @0
required for growth of microorganisms? Hifos Rafa emavas =&t 87
(1) Carbon dioxide (1) w9 SERifearss
(2) Oxygen (2) affeiTST=
(3) Temperature (3) e
(4) Direct sunlight (4) uemer gFUSHTeT
(5) Question not attempted () IrgaiRe we
48. Which of the following amino acid is not related ~ 48. f=faiRag & & H=ar T thys A Ry
to Maple Syrup Urine Disease? IR I 9 g T8l 287
(1) Leucine (1) o=
(2) Valine Bzl @ e
(3) Phenylalanine [ (3) faTgEUaTi
(4) Isoleucine (4) SIE@?J@TT
(5) Question not attempted (5) rgaRe we
62-®@ Page 11 of 32



49. Autoclave method is inappropriate for which of 49 fo/= & < o Hwm® ul¥re & forg snciaca

the following infectious waste? fafer suged =dl 87
(1) Microbiological waste (1) geoifdes smufire
(2) Pathological waste (2) fapfdpRs /Iee e
(3) Used sharps (3) gga =
(4) Human blood, blood products, body fluids (4) 999 SfER, Yo IUTE g I8 avel
(5) Question not attempted (8) IR W
30. Nucleic acid probes are not used in — 50. R‘Jﬁl—a‘cﬁ RS dld &1 IudRT T8 fear Sran
(I) Southern blotting technique
(II) Northern blotting technique gi) ﬁmﬂﬁzﬁ
(I1II) Western blotting technique ity s Eﬁﬂ'UTE Pl

(1) Technique (III)

s
(2) Technique (I) and (II) (1) THe (11D

(2) gH-re (D) Ta (1D

(3) Technique (II) and (III) @3) TN (1) TE (1)
(4) Technique (I) @) qHs ()
(5) Question not attempted (5) argafRd wed
51. In 1994, Martin Rodbell and Alfred Gilman were ~ 51. 1994 # #IfdH Jeddl 3R Tabs o= &l o4
awarded Nobel Prize for the discovery of which PHIRHT UTE) & Wil & AU Ada R¥eR faar
of these cell receptor? AT AT, 98 B —
(1) S — proteins (1) S—9rdH=
(2) G — proteins (2 G-"UrH
(3) R — proteins (3) R
(4) Fi— proteins (4) Fi—é=
(5) Question not attempted (5) arg<fRa e
52. Hybridoma technique is related to — 52. grefa<smr de-ie ddfdd § —
(i) Production of monoclonal antibodies (i) AFIGATd USIdrel &1 e
(ii)) Lymphocyte or B cells are joined with (i) fompaTge a1 1 BIRGRI &I AT
myeloma cells Eﬁﬁﬁh‘m’r @ T GI’IET ST 2
(iii) Boax # WA USIEET BT IR BT

(ii1) Produces unlimited antibodies in culture

2
(1) (1), (i) 3R (iii) TET &
(2) (i) 7Tera B, (ii) 3R (iii) &7 €

(1) (1), (ii) and (iii) are correct

(2) (1) is incorrect, (ii) and (iii) are correct

(3) (i) and (iii) are correct, (ii) is incorrect @) (@) 3R (i) FE E (i) TEd 2
(4) Only (ii) is correct @) Baer (i) 9L T
(5) Question not attempted (5) IrgaRdT ueA
53. Which of the following gene is responsible for  53. Slgddiftg & ford d=AT o9 orseR 87
bioluminescence? (1) Nif 59

(1) Nif gene EaE @ FVP A

(2) FVP gene I
e
(3) PHB gene El%% (3) PHB <
(4) Lux gene (4) Lux <4
(5) Question not attempted (5) eriRa wed
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54. Microscope used in study of three dimensional 54 fd=1 ey W &1 *HC FHas! H F—amareh

structure of tissues without cutting sections is - WA & I H U geras & —

(1) Confocal Scanning Microscope (1) FpIwe Hrel gereeit

(2) Differential-interference Contrast (2) frves—evady R geree
Microscope 3) N - «

(3) Phase Contrast Microscope

(4) Dark Field Microscope (@) S1% Ples Gerad

(5) Question not attempted (5) argaRa wet
55. A coefficient of correlation must always be 55 Jgd«e Ui &1 bl Had fhad ddy H
judged with regard to - fvar smar 87
(A) The variability of the group (A) 9 &1 gRad-eirerar
(B) The significance of the coefficient (B) U &T Hewd
(C) The nature of the variables (C) TR} & D?a’?f?f
Choose the correct answer using the code given I Ry U e Y w9 wwy gﬁ? I
below. He — >
Code - =

(1) (A), (B), (C) T &

(1) (A), (B), (C rect Teld
(A), (B), (C) are correc (@) (A) WS ¥ T (B), () g

(2) (A)is correct and (B), (C) are incorrect

(3) (A), (B), (C) all are incorrect @) (A), (B), (C) & T &
(4) (A) and (B) are correct, (C) is incorrect (@) (A) 3R (B) Wel &, (C) Tord &
(5) Question not attempted (5) srgaRa e
56. Which of the organisms are difficult to cultivate ~ 56. fa7 % ¥ f&= Sfai &1 Wafthd &=AT *feq &
and require solid medium containing agar and TAT S8 IR AR HEl ATHIfed arepd g
right osmotic strength? S ARTH $HI eIl el 87
(1) Mycoplasma (1) ATSHIETSHT
(2) L-form (2) Ta—wH
(3) Spheroplasts & Mycoplasma (3) WIS g HISHIATSH]
(4) Mycoplasma & Protoplast (4) ATIZPITTSHT T AIeIRT
(5) Question not attempted (8) srgafRa wed
57. Inhibition of which of these arrests cell cycle? 57. fo=1 4 9§ fhae daad | SI¥@T I vg g
(1) Inhibition of mMRNA &7

(1) mRNA &T deHq
(2) CDKs®T Sgda+
(3) CKDs &1 HaH+

(2) Inhibition of CDKs
(3) Inhibition of CKDs

(4) Activation of G-1 cyclin @) G-1 ATERe @7 |
(5) Question not attempted (5) srgaRa e

98. Yeast GCN4 transcription factor is - 58. fRe GCN4 THEHRE NG a7 &7
(1) Leucine zipper domain (1) = Ror ™=

(2) Zinc finger domain (2) S TR sHE
(3) Helix loop helix (3) 2ferery qu efcre
(4) Homeodomain (4) EHSHA

(5) Question not attempted (5) IrgaRa gz

[] % ]
sl
[=]
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59.

60.

Chromosome formula for nullisomy individuals
is -

(1) 2n+2n

(2) 2n-2

3) 2n-1

(4) 2n+2

(5) Question not attempted

The first Ultracentrifuge was designed and
constructed by -

(1) Isidor Isaac Rabi
(2) Theodor Svedberg
(3) Arnold O. Beckman
(4) Jules Duboscq

- AferarT faaal & foy Torgs B T 87

(1) 2n+2n
(2) 2n-2
(3) 2n—1
(4) 2n+2

(5) IrgaRT g

ot fosar ar en?
(1) SR Eds <&
(2) forueR Wsaif

(3) aFfes 3. dpad

4) W@?ﬂ?

(5) Question not attempted 3 (5) orgiRd u
61. Who discovered FRET? 61. FRET &1 @Il fas 17
(1) T. Forster (1) & wiex A
(2) W. Hopkins (2) Sy, Bfufda =
(3) R. Williams @) s, fafera=a =
(4) A. Yalow (4) T grar |
(5) Question not attempted (8) FFIRT e
62. Which of the following is a primary virulence 62. f=faRag & & =19 IIRAT &1 Waffe fawm]
factor of bacteria? PRS &7
(1) Slime layer (1) w189 U_d
(2) Polysaccharide capsule (2) diciaxTss SR
(3) Plasmids (3) wnfee
(4) Fimbriae (4) foosit
(5) Question not attempted (5) srgaRda us
63. The basal body of the flagellum of gram -ve 63. I FHRIASG (UTH —ve) AT & FATSTAT &
bacterium possess four rings. The correct order AMIRHT H IR 9 81 & | 39 dordi & 37ex
of these .rmgs from 1‘nner side to outer side is : J TR A R G B L —
(1) Peptidoglycan ring — Super membrane ring
— Membrane ring — Lipopolysaccharide (1) dfteerers i1 — gy TR
ring 9 {7 - ferddieiieygs {7
(2) Membrane ring — Super membrane ring — @ dma T o> gwR FWA R
Peptidoglycan ring — Lipopolysaccharide AfeeraTEET T — RreeREs [T
rin
(3) Suger membrane ring — Membrane ring — @) oy HeE R EREORM
Peptidoglycan ring — Lipopolysaccharide tfteeremssa R — fordieidags
ring @ e RT o gm AR RT S
(4) Membrane ring — Super membrane ring — fardritefiduee R — Afeereree R
I__,ipopolysaccharide ring — Peptidoglycan (5) S ‘
ring TgAIRe
(5) Question not attempted
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64.

65.

66.

67.

68.

69.

The single transport chain of Golgi membrane
contains which of the following?

(1) Acyl transferase

(2) Cytochrome P450

(3) Cytochrome c reductase

(4) Cytochrome b5

(5) Question not attempted

What will be the concentration of H* in a
solution of 0.5 M NaOH? Ion product of water is
1x10714 M2,

(1) 2x107*M

(2) 2x107° M

(3) 5x10°° M
45107 M

(5) Question not attempted
Which of the following is not required in nuclear
protein import?

{11 EP15

(2) PP75

(3) Importin-p

(4) Importin-o

(5) Question not attempted

Biological maintenance of a constant pH does
not involve buffering by -

(1) Protein

(2) Sodium chloride

(3) Bicarbonate

(4) Phosphate

(5) Question not attempted

The type of swab preferably used for the
diagnosis of Whooping-cough is -

(1) Pernasal swab

(2) Both pernasal and postnasal swab

(3) Postnasal swab

(4) Nasal cavity swab

(5) Question not attempted

Which of these type of structural aberrations
affects at least two chromosomes?

(1) Duplication

(2) Translocation

(3) Deletion

(4) Inversion

(5) Question not attempted

66.

67.

68.

69.

- = T Titesh el @1 RivTe gidie a9

F UrT Sfrar 87

(1) TaIa giameal

(2) w\1gEERE P450

(3) "z ¢ Regew
(4) \1EChE b5

(5) srgaRa g

© 0.5 M HIfsaH gIegigs & el § HY @

dAisdr  @ar  s8Afe
1x10°4 M2 2|

M 2x107%M

(2) 2x10°3* M

(3) sx10°M

(@) 5%1075M

(5) FgIRd Uz
/= d ¥ =T e UEN g & ford
JMAITH T8l 87

(1) PP15

(2) PP75

() gIféa-p

(4) saOifE-a

(5) SrgxRd uw

Sifde gfeares # pH ©R&exT & ..
U Uy gl BT © |

1) urd=

(2) HifsTw FiRES

(3) IFHEEFT

(4) wiwe

(5) srgaiRa 9z

wrell Gl & FeE & o e veR & e
HT IuART fbar orar 8?2

(1) =9Te g

(2) S TSS9 UReAYd @ig

(3) UReASA wWid

4) F9a HfAE wie

(5) eraRa ue

= 4 S8 Q4 BH T ORGE B gHIfad B
Il HREATHS fAuerd &1 geR 8 —

(1) o

(2) wq=TaROT

(3) faenu=

(4) ufeem= =

(5) sgaRa U

Slel  hI 3IMIAF 3dlg
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70.

Shine-Dalgarno Sequence is -

(1) A translation initiation site for the binding of
Ribosomes in Prokaryotic expression vector
A translation initiation site for binding of
Ribosomes in Eukaryotes

A translation termination site for the binding
of Ribosomes in Eukaryotic expression
vector

A transcriptional initiation site for binding of
DNA in Prokaryotes

()

(3)

(4)

70.

AMET—STATH] FghH & —

(1) ursRAIfes feaafdd Jeex § JIzarE™ 3l
i aTelT Igare ARFA e

(2) gHRATCE H ASE|H B g arel AJare
M= RIS

() gapRafes sfrafam daey # =™ &1
I AT ITATE FHYA I

(4) urbRaicd § DNA &I 9ieF 91T wicrerad
YR=A I

(5) Question not attempted (6) 3rgaiRe ue
71. Which phospholipid is crucial for cell 71. HIR@ET Hhad & fU HEET HRGIGUS
signalling? HEwIqUl 87
(1) Phosphatidylserine (1) wienfefsafas
(2) Phosphatidylcholine (2) Brfefeame
(3) Phosphatidylinositol (3) wrepfefeasAiera
(4) Phosphatidylethanolamine (4) wrpffEaHtar=
(5) Question not attempted (5) 3R wea
72. Which of the following is an example of 72 = ¥ & ®I9AT JYfITAGA BT IATEVT &7
Nucleophile? (1) =
(1) Ketones (2) smTgS A PrEiTeT Bre
(2) Carbonyl carbon in amides @) of>
(3) Aldehydes
(4) Water ) st
(5) Question not attempted (5) SrgaRa we
73. Which of these methods is used in the study of 73- /=1 & =1 fafy &1 fafr= =_T & #=x
correlation between two variables? e § IRIIT BT ARIBT 87
(1) X-chart (1) X—=rd
(2) Graphical method EAE (2 Gﬂﬁ\ﬂlﬁﬂ (Tfhde) fafe
(3) t-test Fia N (3) t—udteor
(4) Chi-square test [=: (4) P15 (Chi) —ATIR GRIETT
(5) Question not attempted (5) sgaRa ueH
74. RNA polymerase III or RNAP III is required for 74 3MR.UA.U. UfeimNs III a1 RNAP III =1 & &4
synthesis of which of the following? fras weowo & fow aasygs 27
(1) hnRNA (1) hnRNA
(2) 5SrRNA, tRNA (2) 5SrRNA, (RNA
(3) Pre-rRNA (3) Pre-rRNA
(4) Pre-mRNA (4) Pre-mRNA
(5) Question not attempted (5) srgaRa vz
75. What is pH of a solution whose hydrogen ion  75. 9 faferg @1 pH Fa1 &rm foed ggsioE
concentration will be 3.2x10~* mol/L.? 3T ATgdr 3.2x10~* mol/L BIFfI?
(1) 45 (1) 45
(2) 5.5 (2) 55
(3) 3.5 (3) 35
(4) 4.0 4) 4.0
(5) Question not attempted (5) sgaRa uw=
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76.

77.

78.

79.

80.

Which of the following is not an Antigen  76.

Presenting Cell (APC)?

(1) B-cells

(2) T-cells

(3) Dendritic cells

(4) Macrophages

(5) Question not attempted

Mendel’s “Law of purity of gametes” is related ~ 77-

with -

(1) Principle of Segregation

(2) Principle of Independent Assortment
(3) Dominance and recessiveness

(4) Intergenic Interaction

(5) Question not attempted

For electron microscopy, tissue samples are first ~ 78-

fixed in -

(1) Aldehyde fixatives like glutaraldehyde
(2) Mercuric chloride

(3) Gendre’s Solution

(4) Acetic acid

(5) Question not attempted

FASTA searches for matching sequence 79
patterns, which is called -

(1) FIPs

(2) FASTF

(3) FASTX

(4) k-tuples
(5) Question not attempted

In sandwich ELISA, which of these is initially
coated in the well of microtiter plate?

80.

fr=feRed # 4 @19 ¢S USifeT Ja (APC)
T8 7

(1) f—IfH1Y

(2) E—a1f¥rpIg

(3) Sffew s

(4) Hprmot

(8) 3rgalRa ue

TafRa 87

(1) g &1 fagia

(2) wad= smerEd o1 fRgid

(3) gwrfaar va smwHTiaer

(4) SfERTSIHT A=A fhaT

(8) srgaRa s

golggE genedt @ ford, ode wesl &1 uga
Rer favar wmar & —

(1) gRfesess o Ufesess fRera #

(2) REgRF F@RES d

() Sivg " #H

(4) vfifesw st A

(8) SrxiRe U

FASTA 58 e s e &1 @ &xal
2, 98 Pedal & —

(1) FIPs

(2) FASTF

(3) FASTX

(4) k-gucw

(5) srgaRa we

Hdefda ELISA # #ssicser ©ic @1 dd #
URMA® @9 faadr gar 87

(1) Antigen (1) ufdo=
(2) Substrate E=E (2) gsage
(3) Primary antibody E : (3) urufye TSNS
(4) Secondary antibody p (4) fgcige TEErST
(5) Question not attempted (5) srg<IRa uw
81. Gene ALV, REV  (promoter or 81 SfiM ALV, REV (Jdc® T WaEid / HRa-TcHS
enhancer/structural genes) is transferred in SH) &1 93] ¥ RHaRd sva &9 giae™a
animals to produce which transgenic animal? qY] T IdIe far <trar &7
(1) Mouse (1) =@r
(2) Pig (2) g3w
(3) Cow (3) Ty
(4) Chicken (4) Hame
(5) Question not attempted (5) srgaRa ue
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82.

83.

84.

85.

In Microbiology, AETCOM stands for -

(1) Attribute, Ethics and Commercialisation
(2) Attitude, Ethics and Communication

(3) Attitude, Ethics and Conduction

(4) Attribute, Ethics and Communication
(5) Question not attempted

If the frequency of allele ‘A’ is 0.6, what is the
expected frequency of genotype ‘AA’ in the
population under Hardy-Weinberg equilibrium?
(1) 0.16

(2) 0.64

(3) 0.48

(4) 0.36

(5) Question not attempted

Match the following Column-A

(Name of Scientist) with Column-B (Work) and
choose correct option using the code given
below.

Column-A

(A) HwaLim

(B) Amos Bairoch

(C) Rodger Staden

(D) Linux Prophet
Column-B

(I)  Developed package for DNA sequencing
& analysing

(II) Created BIONET

(III) Life science research involving Data

Management and Analysis
(IV) Father of Bioinformatics
Code -
(1) (A)-(IV), (B)-(D), (C)-(11), (D)-(IIT)
(2 (A)-(ID), (B)-(IID), (C)~(IV), (D)~(D)
() (A)-(IV), (B)-(ID), (C)-(I), (D)-(111)
(@) (A)-(D), (B)-(ID), (C)-(111), (D)-(IV)
(5) Question not attempted
Which of the following method is not used for
molecular physical mapping of genome?
(1) Happy mapping
(2) Simple Sequence Repeats (SSR)
(3) Radiation hybrid mapping
(4) In Situ Hybridization (ISH)
(5) Question not attempted

[=:

E:E

82. gesifd®t § AETCOM ITf@Y &dl & —

83.

84.

85.

(1) Attribute, Ethics and Commercialisation

(2) Auitude, Ethics and Communication

(3) Attitude, Ethics and Conduction

(4) Attribute, Ethics and Communication

(5) ergfRa gz

afg Teilel “A’ @1 3Tghy 0.6 8, a1 re—a=iart
Ao & d8d SoEE] # SiHIesy ‘AAT @I
s omafr @ 22

(1) 0.16

(2) 0.64

(3) 0.48

(4) 0.36

(5) srgaRa g

=1 dfe—A (@ 9™) &1 BiaH—B (H1)
& frem AT TF A Ry T aE &

fame gy |
DIAT—A

@) @ fom

@) o RE

@) R '€=

(g) foraw e
DicTH—B

() <SgAn IgHF iR fAwewer @ forg
Yabor frefa far

BIONET 9411

SeT gaud 3R Az ¥ =g sfiaq
s argauT

(V) St Fa s & 5\

F‘-\d et

M @N—av), @—@, @)—dn. ()—din

2 (@0)—1n, @)—am, (&@)—av), @)—@

@) @N)—av), @)—an, @)—, &)—dm

@ @N—®. @)—D, ({&)—1m), (&)—av)

(5) sgaRa we

e 3§ S Y <iHM @ sl Wife
HER=ET § H1E T8 I

(1) Happy #s=fer=or

(2) |%e 3 gHH gaRmEd (SSR)

(3) fafesvor W "=

(4) 391 g HHIT (ISH)

(5) srgaRa g

(1)
(I
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86.

87.

89.

Which of the following is a false statement?
(1) In Affinity
constituents like enzymes are purified

Chromatography, cell
according to their specificity for a particular
substrate or cofactor.

(2) In Adsorption Chromatography, the cell
extract is passed through a column which is

packed with a gel.

(3) Gel Filtration Chromatography is also
known as Molecular Exclusion
Chromatography.

(4) Gel Filtration Chromatography is used for
determining the molecular weight of a
protein.

(5) Question not attempted

Example of closed circular double stranded

DNA virus is -

(1) Picornavirus

(2) Rhabdovirus

(3) Parvovirus

(4) Papovavirus

(5) Question not attempted

PALS are present in -

(1) Medulla of thymus

(2) Cortex of thymus

(3) White pulp of spleen

(4) Red pulp of spleen

(3) Question not attempted

Which of these is phenotypic ratio for dominant

epistasis?

(12321

2 9:7

(4) 9:6:1

(5) Question not attempted

B3 (=]
(3) 9:3:4 %@

86.

87.

88.

89.

= # | B9 3N FUH 27

(1) TS (dgan) s ¥ gwsH o
PRSI Tehl B I96! b A9y FAedge
aT HEPRSD & A fARredr & a9uR e
fasam <rar 2|

(2) srfereiyor HHSHTET H BIRGT 36 BT TH
VH W ¥ ORI O[T 8, S oid o HRT
Bl

(3) Sa1 e HIHSTH! &I AUIfAd gfspyor
HHSUTH & BT A H ST ST 81

(4) Sia e HHSHTS! &1 IUART WS &
amuifaes YR @ FuiRa o= & fog
ST 2 |

(5) sraRd e

§g guirg fevooe! SLUA.Y dRRE BT I&Tex

T

(1) AeEEERa

(2) YgSEERE

(3) uratarRH

(@) JuraTaTIRH

(5) Srg=IRa wed

PALS foa#i suferg 819 €7

(1) oamsHA &Aool |

(2) ar3Hg & dicad H

() facell & ¥he Q|

) foceh & o = A

(5) sFERd e

=1 & Bar gWdn TR @1 ol srgaTd

4

(1) 12:321

(2 9:7

(3) 9:3:4

(4) 9:6:1

(5) IgaRda Uz

62
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90.

Which of these statements is correct for Sodium-

Potassium Pump?

(1) Transports three sodium ions out of the cell
and two potassium ions inside the cell by
using ATP.

(2) Transports two sodium ions out of the cell
and two potassium ions inside the cell by
using ATP.

(3) Transports two sodium ions out of the cell
and three potassium ions inside the cell by
using ATP.

(4) Transports three sodium ions out of the cell
and three potassium ions inside the cell by
using ATP.

(5) Question not attempted

90.

=1 # Brear sua SifgTa—are R 9u @ R

el 87

(1) ATP &1 SYART BB HBIRT I oI dIfead
JMTAT BT 98X AT < UISf3rad 3ma=T &I
PINBT B X of ST 2

(2) ATP &1 SYATRT ¥ HIfAhT I o Jifsas
IMIAT BT d18% dAT T Gref¥ry| a=i &I
BIRBT B 3R of ST B |

(3) ATP &T SUART HXP BIFPRT W o FfSaq
AT Pl I8 AT A9 UIeRrad =l &)
PBIFBT B e of SIram B |

(4) ATP &T SUYANT HXD BIFHT I i Aifsad
I BT 9r8x adT d1F 9ref3ray 3mg=T &f
PIRBT B 3R of odr & |

(5) srgaRa gz

91. Which of the following is a key feature of 91. fr=iforRad § | ®IFA argael ufcRem & (H
adaptive immunity? yg faemear 8?2
(1) Memory (1)
(2) Physical barriers (=] [=] (2) +Hifo® sE=m
(3) Immediate response E‘*& (3) Tomrar wfafshar
(4) Non-specific response (4) IR—faftre ufafshar
(5) Question not attempted (8) srgaRa gz
92. The structural units of agarose are - 92. UIR &1 AXEATHS SHISAT a7 &7
(1) Galactose and 3, 6 methyl glucose (1) e a3, 6 uga e
(2) Galactose and 3, 6 anhydrogalactose (2) g U9 3, 6 TABTSSRTAIge S
(3) Galactose and glucose (3) fretaeI Ud T
(4) Galactose and 2, 4 methyl benzidine (4) HrorgeTS U9 2,4 e s
(5) Question not attempted (5) rgaRa e
93. Monoclonal antibodies have not been produced  93- Yshaai-1 ufaRel =1 ¥ frus Ave Safed
against which of the following? & B T E?
(1) Entamoeba histolytica (1) Jesrar fReeiferfesr
(2) Haemophilus influenzae (2) Eifthere s=auaT
(3) Streptococcus pneumoniae () Eeaied =AM
(4) Mycobacterium leprae (4) ATRITFIRTT ol
(5) Question not attempted (8) srgfRa ueA
94. Adjuvants increase the level of circulating 94 Weadl gREAN TAEE & WX @ 9 &1
antibodies. Which of the following is NOT a o1 ¥ I o9 sufass gsadl =87 87
non-antigenic adjuvant? (1) =1
:3 Lanolin @) T S
Phytohemagglutinin %
(3) Cai{cium ph%)gsphate (3) hfezram wivdhe
(4) Calcium Alginate (4) iR vfesrre
(5) Question not attempted (5) srgaRd we=
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95.

96.

97.

98.

99.

Histones are basic proteins associated with

eukaryotic  nuclear DNA. These are

characterised as -

(1) Total lack of tryptophan, arginine and lysine

(2) Total lack of tryptophan

(3) Total lack of arginine

(4) Total lack of lysine

(5) Question not attempted

Which of the following is incorrect for DNA?

(1) Z-DNA is right handed and B-DNA is left
handed DNA form.

(2) Two strands of double helix are antiparallel
in both Z-DNA and B-DNA.

(3) Helix pitch in Z-DNA and B-DNA is 34A
and 45A, respectively.

(4) Z-DNA appears in
concentration condition.

(5) Question not attempted

very high salt

The amino acid with negatively charged ‘R’
groups is -

(1) Glutamine

(2) Glutamate

(3) Arginine

(4) Asparagine

(5) Question not attempted
SRP (Signal Recognition Particle) is a complex,
that contains -

(1) Six protein subunits and one molecule of
SRP RNA

(2) Eight protein subunits and two molecules of
SRP RNA

(3) Two protein subunits and two molecules of
SRP RNA

(4) Four protein subunits and two molecules of
SRP RNA

(5) Question not attempted

The microglial

contains -

(1) Bi-lobed nuclei

(2) rod shaped nuclei

(3) rounded nuclei

(4) they are non-nucleated

(5) Question not attempted

macrophages of brain cell

E4

95.

96.

97.

98.

99.

feeH gaRaiitd @woadd ST 9 I

&TRBII YIS € | ST faevar & —

(1) fgerdq, anfSiffe ik ars=im &1 gof &

(2 = a1 goi &+

(3) aufstf= a1 gof @+

(4) e &1 goi &Y

(5) sraRa ue

SLEAY & for /9 F 39 s (erd) 27

(1) Z-dlvau. <féomead 8T € 92m B-SIuH.U
qrTad BT 2 |

(2) Z-<¥1.vA.u. vd B-S1.UA.U. H fg@ses & gl
g gforgAHiaR 810 €

(@) ZSTAY. 9 B-SIUAU B FHuSA T
FHAAR 34A T45 A B 2

(4) Z-S1UA.U. ffels 90T ATsdl BT 3ael
# uRdfard gmar g1

(5) STgaRT e

ZRUMHS AR AR FIE el AT arvel

ST B?

(1) T

(2) woerE

(3) anfSife=

(@) TR

(5) IrgaRa U

SRP (Rr=1ar Re&sftaeq wiidee) wo fas 2

forad e € —

(1) ©: UidF I9—sFHT3AT TaH SRP RNA &1
T 39

(2) 3 YIS SU-gHIgAT TaH SRP RNA &
ST 37T o

(3) g1 U SU-3HAT TaH SRP RNA & T
S LIS

(4) IR Yl S9—3dh1sAl Y9 SRP RNA &
qI JURAT |

(8) IR we

A% DIRMGT & HASHIitadd dhive o

e & —

(1) fgufers s=a

(2) BT ATPR BT D<H

(3) M B=b

@ 3 p=dHy B 8

(5) srgaRa ue
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100.

101.

102.

103.

104.

If P(A) represents probability of event
‘A’ occurring; n(A) represents the number of
favourable outcomes for event ‘A’ and n(S)
represents the total number of possible outcomes
in the sample space (S); the probability is
calculated by formula -

(1) P(A) =n(S) +n(A)

(2) P(A) =n(A) x n(S)

(3) P(A) =n(S)/n(A)

(4) P(A) =n(A)/n(S)

(5) Question not attempted

Insects that are typically the first to arrive on the
corpse -

(1) Mites

(2) Ants

(3) Beetles

(4) Blowfly

(5) Question not attempted

&:
[=:

Minor PCR products that are either one repeat
shorter or larger than the actual PCR product, are
known as -

(1) Off-ladder allele

(2) Noise

(3) Drop-out allele

(4) Stutter peak

(5) Question not attempted

Where are all the detailed notes of a crime scene
written?

(1) Log book

(2) Notepad

(3) Notebook

(4) Stock book

(5) Question not attempted

What is the primary purpose of documenting a
crime scene?

(1) To collect evidence from the crime scene

(2) To identify the suspect and victim

(3) To preserve the condition/integrity of the
crime scene

4)
(5)

To secure the crime scene
Question not attempted

[E]

100.

101.

102.

103.

104.

e P(A) TeaT ‘A’ & =afeq 89 &1 wiidiedar &1

UET 8, n(A) 9T ‘A’ & fordl argaer uRomsi

B [T Bl ST & 3R n(S) THAT =T (S)

# durfad uRemHl @1 g d1 T q9ir 8, df

AT BT AT G B —

(1) P(A) =n(S) +n(A)

(2) P(A) =n(A) x n(S)

(3) P(A) =n(S)/n(A)

(4) P(A) =n(A)/n(S)

(5) arg=iRa ue

PIs Sl AMHAR U ¥E TR Fad Usel Ugad

F_

(1) 713w

(2) Fifext

3) T (dreew)

(4) <IATS

(5) srg<Ra ue=

Bl UWMIMR T@§ (PCR products) il

arfas YIIIR. SdE 9 & IR BIC AT 93

B 8, S© Pel ol & —

(1) 3ifp—atsy Teiled

(2) IR

(3) gfu—arrse Uil

(4) TR 1D

(8) 1 gRd uwH

IRY W & | fawga ey Fel ford o

g?

(1) & g%

(2) Arets

(3) dreg®

@) =iF gF

(5) srgaRd we

ITURTET I BT GXATASIDHRYT HIA BT UIIfAE

TETT T 87

(1) AR I W T THS BT

(2) wfeer ik Nifsa &1 ggam= FaT

(3) s e @ Reafd /sr@ear a1 94
T

(4) JURTY ere B [RIEAT HRAT

(5) raRa we
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105.

106.

107.

108.

109.

In Forensic  Entomology, what does

‘necrophagous’ refers to?

(1) Insects that only feed on live tissues.
(2) Insects that feed on decomposing flesh.
(3) Insects that only visit fresh corpses.

(4) Insects that consume other insects.

(5) Question not attempted

Choose an incorrect statement related to

evidence handling -

(1) Evidence should remain unmoved until
proper documentation has been done.

(2) Evidence best maintains its integrity when
kept in its original condition as found at the
crime site.

(3) The disposable equipment should be cleaned
and sanitized after use.

(4) Latex gloves or disposable forceps should be
used when touching evidence.

(5) Question not attempted

Which country established the first national

DNA database globally?

105.

106.

107.

(1) Australia

(2) United Kingdom A&
(3) United States of America E =
(4) New Zealand [=]:

(5) Question not attempted

Which of the following is not a proper reason to
preserve and store DNA evidences, dry and
cold?

(1) To avoid the cross contamination

(2) To boost the full DNA profile recovery

(3) To prevent base hydrolysis

(4) To extend the DNA longevity

(5) Question not attempted

Which DNA extraction method is best for
evidence derived from victim’s vaginal swab in
sexual assault cases?

(1) Extraction with phenol-chloroform

(2) Silica-based extraction

(3) Differential extraction

(4) Chelex extraction

(5) Question not attempted

108.

109.

SRRE P 5= & JPeT a1 gar e

04

(1) Fe ST BHad JIfdd Sasl ) & BIe Hd
g1

(2) @re S Fsd gY HIE BT 0T BRd & |

(3) P ST HaS W AT U YHT HIA & |

(4) P ST I PIST BT & BT & |

(5) IrgaRa g

e gdEE W HdfE Tod HUH o —

(1) ST SHATISIHROT By W9 T FEg o)
Rer vg=7 =fRw |

(2) Wreg Ul IRGSAT Bl TIY 3T TRE 910
REAT § O I IRET IA W 1Y Y Hed
Rerfa & <=g1 imar 21

(3) SUINT & 9% fSWISdel IYHRT BT AH
IR = fFar s=r =y |

(@) 9w BT B WHY Wewd S Al
=My |

(5) srgaRa uw

fod <9 9 fIvg ¥R W ggar vy AT

SerEd <erfua fear?

(1) i fomar

(2) gaIEcE fhTeH

(3) Hgh Iy IHRSHT

@) =Eidts

(5 srgaRa ue=

DNA 9edl & W 9 S-S GYETT g JUSI] &I

TH 9 TP ST eRor T8 27

(1) IR FgEIT &I eTa B forg

(2) wgul DNA UIH1sd wiftq &) e & farw

(3) 99 TESIfR™ &1 e & forg

(4) DNA &1 31g Fe & forg

(5) argaRa =

I IS @ 7T § Nfear & I wig 9

gT<d e & g S SLuAu fresyor fafey

HarH 87

(1) PAa—aaRIBH & | Arspgor

(2) fafT@mT—amRa fAssyor

(3) faves fAspdor

(4) oy fermyor

(5) rgaRa T
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110.

111

112,

113.

114.

115.

The first STR multiplex system is known as -
(1) Second generation multiplex

(2) Quadruplex

(3) CODIS

(4) European standard set

(5) Question not attempted

» Marker THO1 is found on which chromosome?

(1) 16

(2 11

(3) 13

(4) 21

(5) Question not attempted

In 2017, CODIS was expanded by how many
new STR markers?

Mms

(2) 8

(3) 4

@ 7

(5) Question not attempted

Admissibility of report of certain Government
Scientific experts is mentioned under which
section of Bharatiya Nagarik Suraksha Sanhita,
2023 (BNSS)?

(1) Section 293

(2) Section 329

(3) Section 164

(4) Section 310

(5) Question not attempted

Which section of the BSA, 2023 deals with the
admissibility of electronic evidence records?

(1) Section 61

(2) Section 69

(3) Section 66

(4) Section 63

(5) Question not attempted

5]

li];.‘f'lil

The Convention on International Trade in
Endangered Species of Wild Fauna and Flora
(CITES) was enforced in which year?

i

110. ggolr TEAISR. Aocioied Red g9 | 9

112.

113.

114.

115.

ST ST § —

(1) g NG BT A Iiad
() Frewed

(3) CODIS

(4) R AFE Ae

(8) SrgaiRa wed

- AT®HY THO1 HIFA [OREE W U1 STl &7

(1) 16

(2) 11

(3) 13

(4) 21

(5) srgaRd ww

2017 %, CODIS @1 f&a= 77 STR AR ERI
fawaiRa fear Tar?

(1) 5

(2) 8

(3) 4

4 7

(5) argeRa ue

BB N Jete RAdwsi @1 Rud @
BT BT Seoied TRATT AR GRE wfea,
2023 (fivgays) &1 59 gRT & Sfdvia fha
T B?

(1) &=T 293

(2) &1 329

(3) g1 164

(4) g1 310

(5) aRa g

IRA ey AffEE, 2023 @ B GR
gﬁ?@’ﬁ?ﬁw&uﬁaﬁéﬁ&ﬁmﬁwﬁﬁ
?

(1) g=T 61

(2) g1 69

(3) gRT 66

(4) a1 63

(5) Srg<Rd wed

g Sig—wigell R I’ @ @I
goiTfardl & RIS @R R d9= (CITES)
o a9 & fevar Tar oar?

(1) 1975 (1) 1975

(2) 1970 (2 1970

(3) 1972 (3) 1972

(4) 1973 (4) 1973

(5) Question not attempted (5) I gaRda v
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116.

117.

118.

119.

120.

Temperature required for long-term preservation
of extracted DNA 1is -

(1) -70to -80 °C

(2) -10t0-20°C

(3) 0to4°C

(4) 20t025°C

(5) Question not attempted

Which of the following Section of Bharatiya
Sakshya Adhiniyam, 2023 (BSA) defines the
opinions of experts?

(1) Section 45

(2) Section 55

(3) Section 39

(4) Section 23

(3) Question not attempted

[=]
=

=]

Which of the following articles is not a part of a
PPE kit?

(1) Gloves

(2) Biohazard suits

(3) Safety goggles

(4) Evidence collection kits

(5) Question not attempted

Which of the following is the National animal of
India?

(1) Panthera uncia

(2) Panthera pardus

(3) Panthera tigris

(4) Panthera leo persica

(5) Question not attempted

How is the chain of custody maintained for every
evidence collected at the crime scene?

(1) By ensuring that evidence is collected by one
investigator and never passed to another.

(2) By storing the evidence in any available
container without special documentation.

(3) By securing evidence in a single, locked
container.

(4) By documenting every person who handles
or has access to the evidence.

(3) Question not attempted

116.

117.

118.

119.

120.

raTel 7 gAY B SBITe WRET & Ty
AP I & —

(1) -70-9 -80 °C

(2 -10 & -20°C

(3) 09 4°C

(4) 20 & 25°C

(5) argaRd weT

YR ey sfRfFEE, 2023 (@) @
fr=forfaa 4 | st g ARt &) 3 @
gRATT Rl 87

(1) g7 45

(2) gNT 55

(3) gRT 39

(4) grT 23

(5) IrgaRe ue

fr=foRea § 9 @991 9™ PPE e @1
fe=ar =81 87

(1) ===

(2) IR e

(3) grerr =red

(4) e HuE fbe

(5) AR e

fr=fofea & & &9 wRa &1 Tfy gy @7
(1) gorT Sfemrn

(2 gorT TS

(3) deorT @i

(@) o forar ufRiwmr

(8) argaiRa we

UMY R WX U fhY 1Y U |eg & 1y

MARET BT AT HA 9Y L A 272

(1) gz ghfaa o< & 9y ve s=us grI
U far mar € iR eft W gER @ AE
T T g

(2) fRy TAfiaReT & fa=r B« Sgorer
BN H AR Bl GUSIT BB |

() wET BT Th Yhel, d5 HeAx W Rl
P |

(4) \TEx B TS dTel T SH Th UET G
el UAH ARG BT SEITISTDRIT HID |

() rgaRa gz
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121.

122,

123.

124.

If a person is killed in an apartment and the body

is then moved to a remote dump site, what type

of crime scene would the dump site be

considered?

(1) Transient crime scene

(2) Secondary crime scene

(3) Tertiary crime scene

(4) Primary crime scene

(5) Question not attempted

Decomposition stage, characterized by the

breakdown of cellular mass through enzymatic

digestion is called -

(1) Adipocere

(2) Diagenesis

(3) Autolysis

(4) Putrefaction

(5) Question not attempted

Choose the correct statement for the storage of

purified high-molecular-weight DNA.

(i) It is usually kept in a TE buffer stored at
4 °C.

(ii)) DNA solution may be stored at —20 °C.

(iii) TE buffer contains 10mM H2SO4, ImM
EDTA, pH-0.8

(iv) For long-term storage —80 °C is
recommended.

Code -

(1) Only (iii) and (iv) are correct.

(2) Only (i) and (ii) are correct.

(3) (i), (i1), (iii) and (iv) are correct.

(4) (i), (i1) and (iv) are correct.

(5) Question not attempted

Match the PCR Inhibitors to their sources and

choose the correct option using the code given

below.

(i) Melanin (a) Blood
(i1) Hematin (b) Feces
(iii) Bile salts (¢) Hair
(iv) Humic compounds (d) Soil

Code -

(1) (i)-(b), (ii)-(a), (iii)-(c), (iv)-(d)
(2) (i)-(a), (i1)-(b), (iii)-(d), (iv)-(c)
(3) (1)-(d), (i1)-(c), (iiD)-(b), (iv)-(a)
(@) (1)-(c), (iD)-(a), (iiD)-(b), (iv)-(d)
(5) Question not attempted

121.

122,

123.

124.

afe fed aafe &1 ardde # gm &Y <) |l
g 3R v @ &7 fFd oxxer <9 Wge W o
ST SdT &, A €9 9se &) fh9 UBR &I
3TURTE RISl HAT SITYIT?

(1) e1fores JraxTEr T

(2) fgdfiue TuRmEr I

(3) girae ITURTE wore

(4) urIfAe URTT T

(5) argaRa ue
gaﬁf?ﬂﬁmﬁzﬁrﬁrﬂﬁz‘m%‘.mﬁ
(1) TSURR

(2) sIeHE

(3) siferferfaa

(4) "

(8) srgaRa uw=

g I AVfAd R g1t LA & HSRI B
forg w& s g |

(i) 9 AMAR W 4°C R HUed TE IH
#H I@T WIT 2|

DNA "1d @& —20 °C W Juga faea
ST T € |

TE %3 d 10mM H2SOs, ImM EDTA,
pH-0.8 BT 2 |
SE®IId HeRUT & fofg —80 °C &1
RpRer & 9 71

Eﬁ;\e—'

(1) Bae (iii) 3R (Gv) T8 |

(2) g (i) 3R (i) Fer E |

(3 ), (i), (i) 3R (iv) FET E |

@ (i), (i) 3R (iv) F&ET & |

(5) srgafRa ue

YR IRYBI HT SHb Fdl 9 fAaE
FITT vd A Ry v @ # 9 | Awed &
TIT BIFIY |

(i1)
(iii)

(iv)

(i) wHofT (a) =B
(i) =Afes (b) HA
(iii) foq <rgor (c) I
(iv) Tffe difre d) Y
R_

(M ()-(b), (iD)-(a), (iii)-(c), (iv)-(d)
(2) (i)-(a), (iD)-(b), (iii)-(d), (iv)-(c)
(3) (1)-(d), (i1)-(c), (iii)-(b), (iv)-(a)
(@) (i)-(c), (ii)-(a), (iii)-(b), (iv)-(d)
(5) srgafRa e
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125.

126.

127.

128.

129.

130.

Things to be avoided by the investigating team
at a crime scene are -

(1) Note making

(2) Photography

(3) Adjusting windows

(4) Sketching

(5) Question not attempted

Which of the following International Agreement
focuses on the regulation of trade in endangered

species?

(1) CITES .
(2) ITUCN %ﬁ%
(3) UNICEF IRV
(4) NBWL

(5) Question not attempted

What is the range of GC content in percentage
for suitable PCR primers?

(1) 30-60 %

(2) 40-60 %

(3) 70-80 %

(4) 50-70 %

(5) Question not attempted

Which of the following is recommended for
identifying the larval stage of flies?

(1) Larva length

(2) Larva thickness

(3) Anterior spiracle

(4) Posterior spiracle slits

(5) Question not attempted

CODIS database is
agency?

(1) Interpol

(2) Federal Bureau of Investigation

(3) Federal Bureau of Prisons

(4) United States Secret Service

(5) Question not attempted

The furrow extends along the length of a blowfly

egg and traps air when the eggs are covered with
water droplets, is known as -

maintained by which

125.

126.

127.

128.

129.

130.

JURTE WISl UX ol <ol &l fbd dIal 9 Fa=7
1fag?

(1) dre 991

(2) BreTH

(3) RasfHal &I TSoe &Rl

(4) BT

(8) sgalRa g

FreafoRea & 9 o9 RIS gaeiian
gmumﬁa‘f%wéﬁﬁwwa%ﬁ“ﬁ
?

(1) A Ao,

(2) gAY

©3) PR

(4) TAdlS=y o

(5 srgalRa e

U SfEa iR uigER d§ GC 9l @)
et A= ufaerd § arasge 8idT 27

(1) 30-60 %

(2) 40-60 %

(3) 70-80 %

(4) 50-70 %

(8) srgaiRa weA

Hfdgdi & oal TROT P UgEE B B ol
frafafRaa 5 9 fFasr Rl & Sy 27
(1) Sral & ofars

(2) gt @ Hrers

(3) 31 WERe«

(@ vy wsRea Recw

(8) ar=Rd e
gODIS%‘a'émﬁmQﬁ?ﬁgm gAY AT ST
5

(1) se=ura

(2) w1 <" g}

(3) <y O AT

(4) gATSCE W Wise afdw

(5) saRa we=

g GiaT AGdATs © IS B ddis B HATT—HTT
B & TAT 94 S U B el A gb A
g, O 4T BI AP T 8, A 9T Had &7

(1) Micropyle (1) #AEgHIUS

(2) Plastron (2) g

(3) Chorion (3) HIRI=

(4) Hooks ) g®

(5) Question not attempted (5) aﬂﬁﬁﬁ U
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131. The first step to be followed by the first 131.3rRMy ordd W e ufafbar afEeNT gw

responding officer at a crime scene is - STTETAT ST9 dTelT Ugell heH & —
(1) Providing medical treatment to needed (1) arasgs a5 BT R STAR Te AT
individual @) T =@

(2) Evidence searching
(3) IR IeId I R BRAT

(3) Securing the crime scene

(4) Interview of witness (4) a8 BT AEThR
(5) Question not attempted (5) IR ue
132. Match List-I with List-II - 132. Jfi—1 &1 A1 | Ay —
(A) Strip Search @) g =g
(B) Grid Search @ firsw=
(C) Spiral Search () <fter @<
(D) Zone Search @) < w4
List-II K5 L 0

() e AR 9rel g3 & oy A |
(i) < ofgad Y@l # far Siar g1
(iii) 3SR IT FTER BT AR Geb BT IFFARYT B

(i) Best for well-defined boundaries.
(ii) Performed in two perpendicular lines.

(iii) Follows an inward or outward curve. 2
(iv) Effective for large and complex scenes. (iv) 98 iR wIfeer el & farg wwrdy 3
) -0 el ), (D) (0 () (&) - @), @) — G, (@) — (i), @) - (V)
(2) (A) - dii), (B) - (ii), (C) - (1), (D) — (iv) @ (&) — (i), @) — (i), @) — @), &) — (v)
@) (A) - @, B) - (i), (C) - (i), (D) - (v) @) (@) G). @) — Gii), (@) — (i), (&) - Qv)
(@) (A) - (i), (B) — (i), (C) - (ii1), (D) — (iv) @) (@1 - (i), @) — @), (F) — (ii), (&) — Gv)
(5) Question not attempted (5) SrgafRa U=

133. Which type of insect development occurs in the 133 ARl iR ¥l (deew) THEl & AFS H A
case of both flies and beetles? YR T Pic [AHrT BAT 872
(1) Complete metamorphosis (1) gof HrIicRoT
(2) Ametabolous metamorphosis (2) THeEe SN
(3) Incomplete metamorphosis (3) a7gof HrATaRoT
(4) Hypermetamorphosis (4) srfdeTiaReT
(5) Question not attempted (5) srRa U

134. Which of the following is the most effective 134.-f3= # & @Il fafy s sMScSR geRId
method of evidence searching at large outdoor R Ty @ree &7 g9y g fafer 87
crime scenes? () <9 B
1
e e
(3) Grid method il @ fshl
(4) Spiral method %% (4) wrsRa fafey
(5) Question not attempted (8) rgafRa e
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135.

136.

137.

138.

139.

Which of the following statements is incorrect

about crime scene reconstruction?

(1) Conducting thorough and systematic search
at the crime scene would help in an unbiased
reconstruction.

(2

Crime scene photography plays an important
role in crime scene reconstruction.

(3)

A rough sketch is not very useful in crime
scene reconstruction.

(4) It helps to recreate the sequence of events of
a crime.

(5) Question not attempted

A set of alleles that tend to be inherited together,

are referred as -

(1) Heterozygous allele

(2) Homozygous allele

(3) Haplotype

(4) Heteroplasmy

(5) Question not attempted
Which of the following is not a variant of PCR?
(1) Real-time PCR

(2) Hot start PCR

(3) Nested PCR

(4) VNTR

(5) Question not attempted

Narcotic Drugs and Psychotropic Substances
(NDPS) Act, regulates narcotic drugs in India,
was enacted in which year?

(1) 1987

(2) 1985

(3) 2006

(4) 1983

(5) Question not attempted

VNTR belongs to which class of DNA?
(1) Nanosatellite

(2) Minisatellite

(3) Microsatellite

(4) Macrosatellite

(5) Question not attempted

EJ_:%E]
[=:

135. arqRTer Yerel gAY @ gr # fF=faRag # |

136.

137.

138.

139.

BITAT HUF TTeAd 27

(1) 3URTY I UR T8 3R gaRkerd @iel &y
3 freger g § "o Ao 2

(2) R WA DI BICUTH! USRI
gAfmfor # wewaygel gfer e 2

(3) 3URTE wRrel YAHAT § Udh wear ¥hd 95
SUART FE B

(4) TE JURTY BT "eARN B JgHT B e &
g H HAEg el 2 |

(5) sgRa uwA

Teiled & U T Sl Usp a1 farmaa # foemar
2, 99 PET 9T ' —

(1) TS vellet

(2) BHISIT eileT

(3) T=ICEg

(4) BETITSHT

(5) SR ue=

= § ¥ o9 TR &1 e A wg 98
27

(1) Ruc—erza M.

(2) gfc wre NIl

(3) TS AR

(4) STgadlamR.

(5) srgalRa ueA

W[Ue AN R Ay ugref  (NDPS)
JfEaH, vRa H Aed uerf & AT wwan
g, f ad @ far war e?

(1) 1987

(2) 1985

(3) 2006

(4) 1983

(5) srgaRa u=A

NUAERR, Y B BT af | Fdfda 287
(1) J9ReaEe

(2) fAfeaTse

(3) AIEHNICAZT

(4) TpRICATST

(5) rgaRa us
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140.

What is the purpose of using isoamyl alcohol in

organic DNA extraction method?

(1) To increase the
phenol-chloroform mixture

(2) To separate cellular lipid components

(3) To separate cellular protein components

(4) To reduce foaming of phenol-chloroform

mixture

density of

140.

FHEfa® Ay fepdo (A § srsHwaEa
UhIEdl BT SUANT B T SeIT FT 87

(1) frATa—aadRIeE A8t &1 99 dar T

(2) deger fafis ge®l BT 3T BT

(3) TR UIEH FTHi Bl el BRAT

(4) frATa—acRIBH AT & ST BT HH HIAT

(5) Question not attempted (5) SrgaRa ue
141. Which of the following statement is not true 141 for=foRag & | @i w47 (diced) &1
about the morphology of beetles? e fasm & Ix & wEr T8 a°
(1) B{;)(;ly is divided into head, thorax, and (1) ¥R R 987 ok Sex & fAwfrg 2 2
abdomen. !
(2) Three pairs of legs. (2) TR 1 AT <
(3) Prothorax is well developed. (3) TriRTw 3edl ave ¥ fawRid e v
(4) Two pairs of membranous forewings. (4) fereeliar o dwl &1 <1 STt |
(5) Question not attempted (5) srg<ifRa ge
142. What is the pH of Tris-HCl buffer used for 142. SIYA.Y. gUahRol & oy [T fPy S aret
extraction of DNA? Tris-HCl ¥%% &7 pH fad=r grar 87
(1) 8.0-85 (1) 8.0-8.5
(2) 85-95 . (2) 85-9.5
(3) 6.5-8.5 % (3) 6.5-8.5
@) 7.5-8.0 =1 @) 7.5-8.0
(5) Question not attempted (5) IraIRd g
143. What does ‘3° in D3S1266 stands for? 143. D3S1266 F *3* &1 @1 3ef 87
(1) Number of repeating units (1) STEXs 9 dieil S®ISAl & |l
(2) Number of genes (2) <9 &7 Fe&r
(3) Unique identifier (3) fafdre gsaAEEdl
(4) Chromosome number (4) orgE =T
(5) Question not attempted (5) g<IRT e
144. Which of the following factors assist Forensic 144.fo=feiRag § A 99 HREG  BRED
Entomologists in estimating the Post-Mortem Frefasnal &7 dRe—HeH AT 6T STIHT
Interval? T ERAr XA 87
G e e e L1 SR iy
(3) Insect succession and their location on the @) T 2RO AR BT HI A
corpse (3) T ISR 3R T G IThT A
(4) Number and location of insects on the corpse (4) ¥19 W BT B HeaT AR W
(5) Question not attempted (5) gaRa g
145. What does the category ‘Least Concern’ (LC)  145. 21l ‘efiee &=+ (LC) fpelt gemifar & forg &=
indicate about a species? e Bl 87
(1) The species is about to extinct. (1) woffer faga €9 & R W 2| A
(2) The species likely to become endangered (2) g EF\’R ﬁﬂﬁﬂ?ﬂ 5 3ﬁ? ST Bl *ER] HE A
less the circumstances threatening its areft H o4 95 X el g
Gl ce; g S0 USRI B Qe @ @ e
survival and reproduction improve. 2y |
(3) The species has a low risk of extinction. (3) uoTify & faew € BT WeRT & 1|
(4) The species is not evaluated. (4) goTfa &1 geaie & fear T g
(5) Question not attempted (5) FFART u
62-® Page 30 of 32




146.

UV irradiation leads to PCR inhibition by which

means?

(1) By linking of adjacent thymine nucleotides
on the DNA molecule

(2) UV irradiation inactivate the active site of
Tag DNA Polymerase

(3) UV irradiation initiate degradation of the
DNA molecules targeting glycosidic base
bonds

146.

R fafeRer f69 geR PCR 31aR1Y S<a=

AT B?

(1) DNA 3] W Fofals! aigfia Yfderaersst
Bl SIISHY

(2) W fafdRor Tag DNA  dieifRs &1
wfsra Arge &) frepg ox e &

(3) gxrd T fafeRor egeifed a9 dfs @
SIfeTe BRe DNA (VR HT Ud- URH Sl
8

e _ (4) fderaiergel &1 Sifedirsicd 99 @1 &fy
(4) By oxidative base damage of the nucleotides IS |
| (5) Question not attempted (5) SrRT e
147. Shahtoosh wool is derived from - 147. ggqy o feay ur grar 27
(1) Pantholops hodgsonii (1) Yeficlt=T gror=ArT
; (2) Ovis aries (2) e o
: (3) Capra hircus (3) Sur fExda
' (4) Oryctolagus cuniculus domesticus (4) NRecIel ™ g SHReEHd
‘i (5) Question not attempted (5) aﬂ?rﬁﬁ Toq
i 148. Which of the following insect order is most 148.f=faRag #§ W oMHET Fe TT RS
| relevant to Forensic Entomology? JeHdton @ forg wed a1fde garifire 27
l (1) Hymenoptera and Lepidoptera E3E (1) sEHERRT T afteresr
f (2) Coleoptera and Diptera ; 2 (2) wiferder 9 e
(3) Odonata and Mantodea m (3) sifeFTer T AHesar
(4) Hemiptera and Orthoptera (4) 2T 9 siferer
(5) Question not attempted (8) srg<iRa wed
149. The type of photographs usually not taken at a 149 3{qRTY] WJd] WX MHAR TR A8 o W9 dreh
crime scene is - (3 2= b 71 B ) i . =
(1) Overall photograph (1) 97 aER
(2) Mid-range photograph (2) s TR
(3) Panorama photograph (3) TR AR
: (4) Close-up photograph (4) FAG—3U THIR
' (5) Question not attempted (8) agaRa e
L 150. Which marker is most likely to be lost with  150. Ufciisif Y—fIaiias & Hrer Y-STR &It fe
i Amelogenin Y-deletions during Y-STR loci kits VEAIfPaeE & SR f5a a1ex & faaifua =
' amplifications? @ FEH SAT&T FHEAT 87
(1) DYS393 (1) DYS393
(2) DYS458 (2) DYS458
(3) DYS391 (3) DYS391
(4) DYS456 (4) DYS456
(5) Question not attempted (8) rgaRa g
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